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ANSWER KEYS
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Q.No.28 : ¢ Q.No.29: ¢ Q.No0.30: b
Q.No.31:b Q.No32:a
ANSWERS / RUBRICS

Question No: 33

a ) Write all prime numbers between 40 and 135. (Marks 5)

Item Rubric (English) :
Prime numbers =41, 43,47, 53,59, 61,67,71,73,79, 83, 89,97, 101, 103, 107, 109, 113, 127, 131.
1 mark will be awarded for 4 correct prime numbers.

Simplify the following. (—67) — (+40)

(-67)-(+40) (01 Mark)
=-67-40 (02 Mark)
=-107(02 Mark)

Question No: 34

a ) Verify the commutative property of addition for 39 and -51.

,ut”g;mu/i‘(&uyué 1355140

(—67) — (+40).0/
(Mark 01) (—67) — (+40)
(Mark 02) 67-40- =
(Mark 02)107-=

Aoy Sk e L 51139

a+b=b+a (1Marks)39+ (—51)=-51+39 (1 Marks)39—51=—-51+39 (1 Marks)—12=—-12 (1 Marks)L.H.S=R.E

Find the ratio and write in the simpleest form:
5 11 13
1 6 1 15 and 1 30

S rE e S e 18 10 B


https://pecassessment.com/admin/pilot_items/pilot_view_combine/42744
https://pecassessment.com/admin/pilot_items/pilot_view_combine/39585

1%, 1% and 1%
13, 14+ and 133 (Marks 1) 12 :14F:13
1§ : 145 : 155 (1Marks) (Marks 1) % : % : %
53 (Marks (Marks 1) 230: 25230 : 43230
1—5121330 : %3330: %m30 (1 Marks) arks 5 LIOU 75 TOU L 35X
1126 : 2622 : 43z1 (1 Marks) (Marks 1)  11z6 : 26x2 : 43z1

66:52:43 (1 Marks) (Marks 1) 66:52:43

Question No: 35

a)Solve. (5zy + 2yz) + (8zy — 4yz) — (8zy + 2yz) (5 marks)
(#5)(bxy + 2yz) + (8zy — 4yz) — (8zy + 2yz)_u://f
(5zy + 2yz) + (8zy — 4yz) — (8zy + 2yz) (5zy + 2yz) + (8zy — dyz) — (8xy +.2yz)
Sxy + 2yz + 8xy — 4yz — 8xy — 2yz(1.5 marks) 5zy + 2yz + 8xy — 4dyz — 8xy — 2y2(#1.5)
S5zy + 8zy — 8xy + 2yz — 4yz — 2yz(1.5 marks) Say + 8zy — 8xy + 2yz — dyz — 2yz(/1.5)
5xy — 4yz(2 marks) .
Say — dyz(2)
The sum of ages of Faisal and Riaz is 70 years. If the age of Faisal is 40 years then find the age of Riaz. (5 marks)
) o8 £ S P Indla0 £ S S 10052 60s £ S P Lo S
AESE= 40U

Age of Faisal = 40 years /U((f&/: y

Age of Riaz=y -

sum of their ages JKKU)/JWLUQ.

z+40=70  (1.5marks) z + 40 = 70(#1.5)

z="70-—40 (1.5 marks) P

z =30 (2 marks) z=170— 40(/1:5)
z = 30(+2)

Question No: 36

a ) If the base and perpendicular height of a parallelogram is 14cm and 5¢cm respectively, then Find its area. (5 marks)
CF#S) S92 KT 2 5 5 2 5140 S aki$o? sto b 6E W01 $1 5 (1)
Sb$osf SEMo S5 = 52 (5

Perpendicular height of Parallelogram=5cm i) e . b a b

Base of Parallelogram=14cm 0.4 Kvllﬂwd/!r”: 14/'/:6:/

Area =? ,:5/=?

Area of Parallelogram = Base X height (2 Marks) j/g(:ﬂfiﬂ'd}lf”=d,¢1:><oﬁ@(/2)
= 14 x 5 (1 Mark) : .

= 70cm?(2 Marks) =14 x 5(/7’/1)

= 1045 ¢ (4D

Construct the 135° angle using compass. (7 Marks)
(/7)-@{&,}’]?13504;,9 JJK/.:
/,:L@b;gc//)(ﬁ} 1)
4807 §1200160°C4 1)

On drawing a correct line segment(1 Mark)
On drawing the arcs of 60° and 120° (1 Mark)

On drawing the angle of 90°(2 Marks) /é_b.m)K90°(/2)
On bisecting the angles of 90° and 180°(2 Marks) . * - .
On completing the angle (1 Mark) 4&./@"{?(1800/)‘900(/7/2)

/.:L/J[:AIJ(/?‘;I)

Question No: 37

a ).Find the mean of the data 13, 33, 20, 14, 18, 16. (5 Marks)

(#5)-u oo bsdl>§13, 33,20, 14,18, 1615


https://pecassessment.com/admin/pilot_items/pilot_view_combine/39467
https://pecassessment.com/admin/pilot_items/pilot_view_combine/39314
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e
Sum of values

Mean = Number of values .
Mean= 13+33+20~6F14+18+16 (1 Mark) L/"Quz 13+33+20—g14+18+16 (/‘,11)
Mean=1 (2 Marks ,

A (2 Marks) b= 114 (2)

Mean =19 (2 Marks)

b dlo=19042)

FInd the probability of getting two heads when two coins are tossed. (5 Marks )

(/725)4,):/())"”&361éLTééf}};dflng?&ug%
S={HH, HT, TH, TT}#1)

Sample space= S = {HH, HT, TH, TT} (1 Mark) n(S) =4(#0.5)
n(S) = 4(0.5Mark) 5

E = {HH}(1 Mark) E={HH}(#1)
n(E) = 1(0.5(EI\/)Iark) n(E)=10+0.5)
P(E) = 23 (1Mark) p(E) — Zg)) (#1)
= (1 Mark) :

So, the probability of getting two heads is %. = % (/ 1)

_@?%c«t&léé_ﬁ/ﬁﬁuu{:





